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S8 23. 85
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3 fi HH T3 11/ 4 24. 06 10#% ( 0.59)
2 BA %t =\ AKRY 12/ 4 24.10 108% ( 0.65)
3 AE BHE HEFH R 10/ 4 24. 49 9%% ( 0.60)
4 H) HEIA UK K3 10/ 5 25. 01 9% ( 0.62)
5 —If BE k= 11/ 5 25. 32 8f%  (0.62)
6 Ik fEE PR x2 12/ 5 25. 48 8% ( 0.66)
(L = IWHTHS C 11/ 3 26. 26 8tk ( 0.63)
8 ik M FU T 12/ 3 26. 50 7#%  ( 0.65)
9 JBH &k HEy7SC =2 12/ 6 27.05 S8 ( 0.58)
10 58 23} MBS#/n" =/ K3 10/ 6 27.25 6%  ( 0.69)
11 WEH Bk H AR AR K1 10/ 2 27.40 7k (0.59)
12 85K FHAr WFIS C F3 11/ 2 21.77 8#% ( 0.63)
13 i BEK —HEK X3 10/ 3 27.84 5% ( 0.63)
14 FiE  HFKX WEMSC =2 12/ 2 27. 86 65% ( 0.73)
15 KFE  F&EFK FU T =2 11/ 6 27.98 %% (0.61)
16 =R MR EH DY H &l 10/ 7 29.02 56% ( 0.66)
17 Ak A HEHZA =110/ 1 29. 24 5#%% ( 0.66)
18 HH  BLED WEHSC h2 o 11/ 7 29. 43 7#%  ( 0.67)
19 HF  BGK HEH A4 1310/ 0 29. 46 6% ( 0.66)
20 RARME 1B MBS#/n" =7 =l 12/ 7 29. 50 5%k  (0.74)
21 Pex AMEE o2F/SS =l 12/ 8 29.58 5%% ( 0.66)
22 Fnik 173 a%/SS 52 12/ 1 30.02 4%%  ( 0.75)
23 L 1K HEHZA4 2 9/ 2 30. 07 5%% ( 0.64)
24 [BEH FE OFF5 7= % 0 F3 11/ 1 30.57 5#k  ( 0.71)
25 [ Bk IWAMS C 19 5/ 6 30. 64 58k  (0.67)
26 it K& WIS C 1 10/ 8 30. 66 6% ( 0.63)
27 ik H Vs HB7H% eSS F3 12/ 0 30. 80 5%k (0.74)
28 4 T Hhy7SC 3 11/ 8 30. 90 3% (0.69)
29 B ORI ] SSH¥+ =1 10/ 9 30.95 3% (0.75)
30 B |BAE ] S SR ab! 9/ 0 31.07 65% ( 0.69)
31 /B Tk e T 2 8/ 2 31.28 3% ( 0.75)
32 A MmE ZE/SS F3 11/ 9 31. 41 4% ( 0.63)
33 JKEF T 4 R =) 9/ 4 31.53 28%  ( 0.67)
34 IR Hik ]S Sk F3 12/ 9 31.57 4%%  ( 0.76)
35 [LIEE ! SCHx% 13 9/ 3 31. 61 47%  ( 0.65)
36 HH  uhE TS SIABK 1 9/ 1 31.90 7% ( 0.53)
37 mA B 7 A FSC 13 9/ 8 32.23 3%k (0.72)
38 gaAK  VERE AR Ml 8/ 7 32.30 6% ( 0.71)
39 A WA HIT72AS S NG 9/ 7 32.38 8tk ( 0.67)
40 JEERS AN OFFE72F£ v H12 8/ 3 32.52 3k (0.71)
41 @Il AR A4 /N6 8/ 4 32.59 68% ( 0.57)
42 B MEK HEH A4 NG 8/ 6 32.83 6% ( 0.67)
43 7\ RR Bk YAV NI /NG 8/ 5 32.96 104% ( 0.63)
44 L Bl WAHSC 12 3/ 5 33.17 3% ( 0.60)
45 AKRH S ] S SR /N6 8/ 1 33.30 T#%  (0.70)
46 /NIRRT B4 NG 7/ 2 33.32 5#%  ( 0.59)
47 W4 MalkEE ] SSHT M1 8/ 9 33.55 3% (0.63)
48 AREN HhE KfeS C 12 9/ 9 34.05 2%% ( 0.73)
49 FRIL PEEE JSSA¥F NG 8/ 0 34.06 4%%  ( 0.63)
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49 JHH  EET HBhy7SC /4 8/ 8 34. 06 108%  (0.74)
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OPN {Fi% Ik —HEK K1 11/ 0 30. 88 1#% (0.65)
OPN [LfE FEHE I SSHA¥F NG 7/ 3 32.58 8#% ( 0.79)
OPN Kk At w7V eSS =2 6/ 3 33.33 ( 0.77)
OPN o &K J S Sk /N4 7/ 6 33.77 104% ( 0.73)
OPN JEH W5 IS C 12 5/ 4 33.83 % (0.72)
OPN J/U  A54B WFEI S C H2 7/ 5 33.95 3 (0.72)
OPN i B IS C M1 4/ 4 34.20 4%%  ( 0.69)
OPN LA 2 Hhvy7SC NG 5/ 5 34.22 6% ( 0.69)
OPN A fgf82 OFF572F 0 /NG 7/ 7 34.32 9%k ( 0.78)
OPN B Tk HIT7AHSS NG 7/ 0 34. 45 65% ( 0.75)
OPN AJF  BEAE HT72AHS S /N6 6/ 0 34.53 65% ( 0.67)
OPN =% 1E/% 4 13 =2 6/ 4 34.76 ( 0.73)
OPN ABf ¥EEHE k7S C /N6 7/ 9 34.78 6% ( 0.65)
OPN #Htfix e = =) 7/ 8 35.09 ( 0.74)
OPN £ ik OFB5 72 % v /N5 7/ 1 35.19 8% (0.71)
OPN gk & A 4 Wl 5/ 2 35.48 3tk (0.84)
OPN JIly&  HELE kv 7SC NG 6/ 2 35.63 5#%% ( 0.66)
OPN A KiIE K#dS C NG 6/ 5 35. 65 5% ( 0.70)
OPN 505 A7 i AU A 12 6/ 8 35. 65 % ( 0.67)
OPN KH #%F% SCHxz 12 4/ 2 35.70 %  (0.71)
OPN kH #c YAV NI H1 5/ 1 35.96 (0.74)
OPN i EfE ALYV NV /N4 6/ 1 36.33 7% ( 0.66)
OPN #k BEE =4S S NG 6/ 7 36. 33 4% ( 0.56)
OPN [LhA 31 TS Sk 1 5/ 7 36. 56 2%%  ( 0.69)
OPN K4 HWE k7S C NG 6/ 6 36. 89 4%%  ( 0.69)
OPN f&kf HEg w7V eSS /NG 4/ 3 37.16 4%%  ( 0.67)
OPN H s & KfcS C /NG 5/ 9 37.20 3tk (0.77)
OPN [ LK TS Sk NG 5/ 8 37.37 Ltk ( 0.68)
OPN ¥k A4 J S SHPk /NG 5/ 3 37.63 6% ( 0.81)
OPN SEHF A B RMAFR 1 5/0 37.97 ( 0.68)
OPN T HFEL KRR ] SSsS@a+ /NG 1/ 4 38.43 5%k ( 0.64)
OPN 8y % 40 KWK 77 NG 4/ 5 39.54 L#k  ( 0.84)
OPN 2784 Vi i FE: ] SSHYT NG 4/ 1 39. 68 L#k  (0.73)
OPN LA PR 7S SHPk /NG 3/ 9 39.69 4% ( 0.75)
OPN #gilr 23 ] SSH¥ NG 3/ 1 40.03 ( 0.63)
OPN = JHk5 MBS#/n" =7 NG 4/ 7 40.12 L% ( 0.79)
OPN 7711 B I SSHT N6 4/ 6 40. 22 1#%  (0.71)
OPN &M HEf 2E/SS NG 3/ 4 40. 33 ( 0.83)
OPN /PR &t S8 KUK 77 ! 3/ 6 40. 38 3k (0.61)
OPN K fEd MBS#/n —7 /NG 4/ 8 40. 51 ( 0.82)
OPN )14k FH HE7YEeESS /NG 3/ 3 40. 70 ( 0.62)
OPN Jf F ==} N 2RSS /NG 4/ 0 41.24 3% ( 0.59)
OPN /JNEf b k7S C ! 4/ 9 41.70 5#%% ( 0.66)
OPN &R FK ALY AT 1 3/ 7 41.83 ( 0.59)
OPN HARLy 2 ifi 7YV ESS /NG 3/ 2 41. 89 28% (0.79)
OPN # |k 1~ 4SS /NG 1/ 6 42.14 2% ( 0.22)
OPN HH P} A VAV /N7 /N3 2/ 5 42.29 4% (0.73)
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OPN FRJR 5B v — MMARK NS 2/ 3 43. 31 %% (0.22)
OPN 5FH  J%ER af/SS /N6 2/ 4 43.58 ( 0.64)
OPN #E = F=4SS /NG 2/ 7 44. 21 ( 0.73)
OPN 22T =1 HEH A4 /N3 3/ 8 44.56 6% ( 0.83)
OPN Ffff Pz aE/SS /N5 2/ 2 44.79 ( 0.38)
OPN &1 ¥ HEy7SC /NG 2/ 1 45. 38 ( 0.76)
OPN 7 HHHE KRR FES S /N3 2/ 8 45. 41 28%  ( 0.69)
OPN &H 5 YA NI /NG 2/ 0 46. 33 ( 0.71)
OPN K- HEEy MBS#/n" =7 /NG 2/ 6 46. 46 ( 0.68)
OPN HMERE LBEA ~NZRS S /NG 1/ 3 48.97 ( 0.71)
OPN JEH B a%/SS /NG 3/ 0 49. 77 ( 0.88)
OPN =i 5L 5% YA NI /N2 1/ 7 49. 78 *FH) 28% (0. 46)
OPN Fiy &3} ] SSs@a+ /N4 1/ 2 51.26 ( 0.89)
OPN W 9l YAV NI /N4 1/ 5 52. 34 ( 0.73)
OPN L 523k HT7HESS /N5 1/ 1 54. 42 ( 0.66)
OPN fL  Z=5i 7Yt SS /N3 1/ 8 1:04.65 «F&) ( 0.32)
OPN Pa¥x & 4 T w2 7/ 4 Kig4 4 (———- )
OPN EHH  #f HEH A 2 6/ 9 EHE ( )
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